

OGUNJU NKREHI MARTINA

19/05/2021/072

Find the integral of the following

1.  $x^2 \sin x dx$

$$\int x^2 \sin x dx$$

let  $u = x^2$   $\frac{du}{dx} = 2x$   
 $du = 2x dx$

$$dv = \sin x dx$$

$$\int dv = \int \sin x dx$$

$$v = -\cos x$$

$$\int u dv = uv - \int v du$$

$$\int x^2 \sin x dx = (x^2)(-\cos x) - \int -\cos x 2x dx$$

$$= \int x^2 \sin x dx = -x^2 \cos x - \int -2x \cos x dx$$

$$\int x^2 \sin x dx = -x^2 \cos x + 2 \int x \cos x dx$$
$$= -x^2 \cos x +$$

$$u = x^2, \frac{du}{dx} = 2x, du = 2x dx$$

$$dv = \cos x dx \Rightarrow \int dv = \int \cos x dx$$
$$v = \sin x$$

$$\int x \cos x dx = x \sin(x) - \int \sin(x) dx$$

$$= \int x \cos x dx = x \sin x + \cos x + C$$

$$\int x^2 \sin x dx = -x^2 \cos x + 2x \sin x + 2 \cos x + C$$

$$2 \int 3t e^{2t} dt$$

$$\int u dv = uv - \int v du$$

$$\text{let } u = 3t, \frac{du}{dt} = 3, du = 3 dt$$

$$\int dv = \int e^{2t}$$

$$v = \frac{1}{2} e^{2t}$$

$$= 3t \left( \frac{1}{2} e^{2t} \right) - \int \frac{1}{2} e^{2t} \cdot 3 dt$$

$$= \frac{3}{2} t e^{2t} - \frac{3}{4} e^{2t}$$

$$3. \int 2x^2 \ln x dx$$

$$\int u dv = uv - \int v du$$

$$\frac{dv}{dx} = \ln x = \frac{1}{x} dx \Rightarrow v = x^3/3$$

$$\frac{du}{dx} = x^2, du = x^2 dx$$

$$\int u dv = 2 \ln x \frac{x^3}{3} - \int \frac{x^2}{3} dx$$

$$= 2 \ln x \frac{x^3}{3} - \frac{1}{3} x \int x^2 dx$$

$$= \int x^n dx = \frac{x^{n+1}}{n+1}$$

$$\int x^2 dx = x^3/3$$

$$\frac{2x^3}{3} \ln x - \frac{2x^3}{9}$$

$$\frac{2x^3}{3} \ln x - \frac{2x^3}{9} + C$$

$$= 2x^3/9 \ln x$$

$$x+c \quad 4 \int \frac{2x-3x^2}{1-x} dx$$

$$= \int \frac{2x}{1-x} dx - \int \frac{3x^2}{1-x} dx \quad (\text{indefinite integral})$$

$$= 2 - 2x - 2 \ln(|1-x|) + \frac{-9+6x+3}{(1-x)^2} + 3 \ln(|1-x|)$$

$$\text{Simplifying } \frac{-5+2x+3x^2}{2} + \ln(|1-x|)^2$$

$$\int \frac{2x-3x^2}{1-x} = \frac{-5+2x+3x^2}{2} + \ln(|1-x|)$$